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61- The man in the car had been burnt so terribly that knowing his … was absolutely 
impossible and the police said that this had to be done in the laboratory by a DNA test. 
1) identity  2) balance  
3) product  4) mission 

62- Psychologists believe that the families who try to train their young children to … their elders never get into 
trouble or make a mistake. 
1) educate 2) measure 3) appreciate 4) improve 

63- It is not actually right to give the most important jobs to the people who suffer from any kind of mental … .   
It has already been proven that they can never be helpful. 
1) laughters 2) experiences 3) additions 4) disorders 

64- Parents should be advised to teach their children not to … on their parents; otherwise, in future, they cannot 
be able to make much more important decisions on their own. 
1) prevent 2) depend 3) reflect 4) imagine 

65- India has always been famous for its … of religion in the world. It is said that this country has more than 4000 
religions. 
1) uniqueness 2) diversity 3) valuability 4) specialty

66- This year, the air pollution has greatly … . I think it is because of the new plan of the government. We 
should have more clean days here in the future.
1) decreased 2) made up 3) produced 4) introduced

67- As parents, we see the value of you in our child’s … . Thank you for what you have done. 
1) collection 2) development 3) booklet 4) percent

68- Many of people try to help their … life by participating in a number of activities, which includes camping 
with friends and family members.
1) worried 2) bored 3) social 4) proud

Nadia: Do you like to go to a …(69)…  tourist destination or  a lesser known one?  
Paria: I like …(70)… better.   

Nadia: Interesting! But why? 

Paria: Because I don’t like places with too many people and a lot of traffic. 

69- 1) lovely 2) national 3) cultural 4) popular 

70- 1) the first one 2) the second one 3) both of them 4) none of them 

Termeh, as the most traditional Iranian handwoven cloth, has for centuries showed the …(71)… 
image of the Iranian culture in clothing and décor. 

This …(72)…, which is woven with silk and wool and sometimes with …(73)… like gold and silver, is 
mainly used for …(74)… purposes in important ceremonies and in making various items such as table-
cloths, bed sheets, scarves, cushion covers, curtains, garments, waist bands, robes, royal headdress and even 
bags and  shoes. …(75)… Termeh is a highly complicated task as the design is not printed on the cloth. 

 

  )2( 15
A Healthy Lifestyle  
(What you learned) 
Art and Culture   
(Get Ready,…, 

Reading, Vocabulary 
Development)  

78   94

PART B: Conversation 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each space. Then mark the answer on your answer sheet. 

PART A: Vocabulary
Directions: Questions 61-68 are incomplete sentences. Beneath each sentence you will see 
four words or phrases marked (1), (2), (3) and (4). Choose the one word or phrase that 
best completes the sentence. Then mark your answer sheet.

PART C: Cloze Test 
Directions: Read the following passage and fill in the blanks by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet. 
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71- 1) harmful     2) artistic     3) domestic        4) depressed       

72- 1) continent    2) anthem       3) handicraft     4) souvenir  

73- 1) metals        2) experiments  3) ranges           4) hosts 

74- 1) productive  2) surprising     3) native    4) decorative 

75- 1) Weaved      2) To weave      3) Weaves    4) Weaving 

Thomas A. Edison was born in Milan, Ohio, on February 11, 1847. His family moved to port Huron, 

Michigan, when he was seven years old. Surprisingly, he attended school for only two months. His 

mother, former teacher, taught him a few things, but Edison was mostly self-educated. His natural 

curiosity led him to start experimenting at a young age with electrical items at home.  

When he was 12 years old, he got his first job. He became a newsboy on a train. He set up a laboratory 

in a baggage car of the train so that he could continue his experiments in his free time. Edison’s first job 

did not end well. He was fired when he accidentally set fire to the floor of the baggage car. 

Edison then worked for five years as a telegraph operator, but he continued to spend much of his 

time on the job doing experiments. He got his first patent in 1868 for a voice recorder run by electricity. 

However, the voice recorder was not a success. In 1870, he sold another invention to a stock ticker for $ 

40.000. He was then able to build his first shop in Newark, New Jersey. 

Thomas Edison died at the age of 84, in 1931, at New Jersey. He left a lot of inventions that improved 

the quality of life.  

76- Thomas Edison received his first patent for inventing what item? 

1) An electric light  2) A phonograph camera 

3) An electric voice recorder   4) Motion picture 

77- The word “laboratory” means … . 

1) the last car in the train       2) a school for inventors 

3) a place for doing experiments         4) an invention name 

78- What is the main idea of the passage? 

1) Thomas Edison was interested in science and invented many important things.  

2) Thomas Edison could not  keep a job  and kept getting  fired.  

3) Thomas Edison worked day and night on his jobs. 

4) Deaf people make good inventions because they have more time for work. 

79- Why was Edison able to build his first shop in Newark, New Jersey? 

1) He had more free time because he was fired from another job.  

2) He inherited a building after his parents died. 

3) He found an investor willing to buy him a building. 

4) He made money when he sold an invention. 

80- We can understand from the passage that … . 

1) Edison was born at the first half of the 19th century 

2) Edison was a lazy person 

3) his voice recorder was a successful invention 

4) his family moved to Michigan when he was 12 years old

PART D: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet. 
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